TWO-SIDED BLANK BLOCKS

Ra%=S & Each face is precision ground with
0.5mm-deep finishing allowance for
{ ' extra face finish to your specifications.
1 ’ Also available with DIN mounting capability or
in other specified designs on request.
SR |
¢
e v Material : FC300 cast iron
— ; Annealed
{ _ . Precision machined
D For M16 Socket-Head Cap Screws
- } " ‘ Locating Strips
— [ ——
o —+¢ - =+—44- wlm
) A=A
E ' B
B S
110.02/300/A]
[L10.02/300[B]
{0J]0.01,/0150]
C K
L [L[0.02/300]B] J
| ’———‘
B ‘ | I ; | .
T | I I
[y ! \ I \
[ ]! \ It \
[ ‘ I |
\ ‘ \ < \ I \
[l \ Il \
© L] © \ ]
F—Fsel | wodl (01
/! F.F ! " N H 25
3-M16X2 [ H [[0.01/a150
I
LR AR %
_GRER AR %
: Pallet No. of
Series Size B D E B G H J MTP Holes
CP6-4**-***-* | 1400 | 393 320 386 55 50 200 400 4
CPg-5***-**.* | [ 1500 | 493 | 400 486 75 250 500 6




-4+ _*+x+*(for 400mm pallets) CP6 ] -5***-***.*(for 500mm pallets)

C| K Weight C| K Weight

Part Number | A 402)| (£02) L (kg) Part Number | A (+02)] (£02) L (kg)
CPG-4150500-4| | 151 |1245(405] 174 CPS20G6004| | 01 | 1405205284
CP64175:500-4| [T, [405] 181 CP6-5200-600-5 51505 325
CP6-4175-500-5 505 207 CPB-6225600-4| [ oo o [405] 293
CP64200:5004| |00 405|187 CP6-5225-6005 505 336
CP6-4200-500-5 | 500 Sl505] 215 CPGS250:600-4| | o | 0 [405] 301
CP4205600-4| || o [405] 194 CP6-5250-6005 Sl505] 346
CP6-4225-5005 505 223 CP6-5200650-5| | 201 |149.5(50.5| 348
CP6-4250-500-4 405 200 CP6-5225-650-4 1205 313
cPe42505005) | 21| ™5 1505] 231 CP-5225-6505 | 650 | 220|137 [505] 360
CP6-4175-550-4 405 196 CP6-5250-650-4 405 323
CPe-41755505| | 10|11 (505 225 CP6-52506505| | 21 |"45(505[ 372
CP6-4200-550-4 405 203 CP6-5200-700-4 405] 323
CP6-4200:5505 . 201 ) 995 (505 o34 cPe52007005| | 2011950505 a7t
CP6-4225-550-4 105] 211 CP6-5225-700-4 405 334
cPe42255505| | 228 87 [sos| os3 CP6-5225:7005| 10 | 228|137 [505] g4
CP6-4250-550-4 105 218 CP6-5250-700-4 405 344
CPe-42505505| | 21| "9 (505 252 cPe52507005| | 21 |1245(505[ 397
CP6-4150-600-4| | 151 1245|405 203 CPBG200T50:4| | o |0 1405|342
CP64175600-4| | .o |405] 211 CP6-5200-750-5 51505/ 394
CP6-4175-600-5 505] 243 OP65225.750-4 . [ oo | - |405] 54
CP64200600-4| [ | oo 1405|220 CP6-5225-750-5 505 408
CP6-4200-600-5 | 600 S 505] 253 CPS250.7504| | o | o0 1405|366
CPG4205:600-4| | o | o |405] 228 CP6-5250-750-5 51505 423
CP6-4225-600-5 50.5| 264 CP6G200800-4| | o |0 1405|362
CP64250:600-4| | o | -, - [405] 236 CP6-5200-800-5 Sl505] 417
CP6-4250-600-5 Sl505] 274 OPE5225:800-4 0 [ e | oo |405] 74
CPG-4150-650-4| | 151 |1245|405] 218 CP6-5225-8005 50.5| 433
CP6-4175-650-4 105 207 CP6-5250-800-4 405|387
cPe-41756505| | 70|11 [505] 261 CP6-52508005| | 21 |"%45(505[ g
CP6-4200-650-4 405 236 CP6-5200-850-4 405] 381
CP6-4200-650-5| 650 | 2°1 | %99 [505] 272 cP652008505| | 201 |M95 (505 aa0
CP6-4225-650-4 405 245 CP6-5225-850-4 405 395
CPe42256505| | 220 | 8 [s05] o84 CP6-5225-8505 | 020 | 228|137 15051 457
CP6-4250-650-4 405] 255 CP6-5250-850-4 405 409
CPe-42506505| | 21| "9 (505 295 CP6-52508505| | 21 |"245(505[ 474
CPG-4150-700-4| | 151 |1245|405] 232 CPBG200900-4| | 0 |0 1405[ ot
CP64175700-4| [ - |.o [405] 242 CP6-5200-900-5 S1505] 464
CP6-4175-7005 505] 279 CP65225:9004 | o 0 [ e | o7 |405] 415
CP64200-700-4| [ | o0 1405|252 CP6-5225-9005 505 481
CP6-4200-7005| 700 Sl505] 292 CPS250.900-4| | o | o0 |405 430
CPG4225700-4| | o | o7 |405] 263 CP6-5250-900-5 Sl505] 499
CP6-4225-7005 50.5| 304

CP6-4250-700-4 405 273

cPeaz507005] | 21| ™ [505[ 317

Furnished With: Feature:
2 of eye bolts Also available in custom designs on request.

Note:
These blocks are non-stock items.



For M16 Socket-Head Cap Screws

Locating Strips

D
CO Vi y
o ¢ - = +—oéf- w
¢ |0 e
1 08
E
B [&]

N 1
Al | ‘ \ ‘ \ ‘
Tt f I T 1
[l \ I (I T T
I \ I (I T I
[ \ i (O I T
| ‘ \ < \ I Loy |
Il \ I [ T O
® L i S S (— [ [ [—
R E SO ] - d pe T
/|F ¥ ' | H s
3-M16X2 ] H ]0.01/3150 m
T _grer ik
' Pallet No. of
Series Size B D E B G H J MTP Holes
CPg-6***-**-* | [1630 | 623 | 500 | 616 | 100 55 315 | 630 6
CP6-8***-**-* | [1800 | 793 | 640 | 786 | 135 60 400 | 800




-6***-***.*(for 630mm pallets)

CP6 | -8***-***-*(for 800mm pallets)

C K Weight C K Weight
Part Number | A (+02)| (+02) L (kg) Part Number | A (+02)] (£02) L (kg)
CP66200- 7004 | o |, o |905] 427 CP6-8250- 8005 | 251 |2745 786
CP6-6200- 7005 51505/ 488 CP6-8350- 800-5| 800| 351 |224.5]50.5] 854
CP6-6250- 700-5| 700| 251 |189.5/505] 512 CP6-8400- 8005| | 40111995 892
CPE6300- 7004 | |, 5405|467 CP6-8250- 8505 | 251 | 2745 824
CP6-6300- 7005 S1505] 537 CP6-8300- 850:5| o | 301 (2495, | 861
CPOG200- 750-4| | 0. |1 o 405] 45t CP6-8350- 8505 20| 351 |204.5°%%[ g0g
CP6-6200- 7505 51505 516 CP6-8400- 8505| | 401 |1995 939
CPo6250- 7504 o [T o 1405|472 CP6-8250- 9005| | 251 |2745 862
CP6-6250- 7505 51505 543 CP68300- 900:5| o | 301 [2495, | 903
CPO6300- 7504 [0 |, o|405] 494 CP6-8350- 9005 *° 351 204520 943
CP6-6300- 7505 81505 570 CP6-8400- 9005| | 4011995 %7
CPO6200- B00-4| | o |1, o|405] 474 CP6-6250- 9505| | 251 |2745 %01
CP6-6200- 800-5 S1505] 544 CP6-8300- 9505 | o 301 (2495 | 944
CP6-6250- 800-5| 800| 251 |189.5/505] 573 CP6-8350- 9505 0351 |224.5°0%[ ge7
CPO60- 800-4| | oo o, - |405] 522 CP6-8400- 9505| | 4011995 1,034
CP6-6300- 800-5 51505 602 CP6-6250-10005| | 251 | 2745 940
CP6-6200- 850-4 405] 498 CP6-8300-10005 ], | 301 |249.5 95
cpe-6200- 8505 | 201 2145 505 572 CP6-8350-10005 | 'O 351 | 224.5 %0 1 031
CP6-6250- 8504 oo [ | o0 [405| 524 CP6-8400-10005| | 401 |199.5 1,081
CP6-6250- 8505 51505/ 604 CP6-6250-10505] | 251 |2745 978
CP6-6300- 850-4 405] 549 CP6-8300-10505]. | 301 |249.5 1027
cre-6300- 8505| | 01 164515051 635 CP6-8350-10505 | °2° | 351 | 224.5/°%% 1,076
CPO6200- 900-4| | - s, o|405| 621 CP6-8400-10505] | 4011995 1128
CP6-6200- 900-5 51505 600 CP6-6250-1100-5| | 2512745 1016
CP6-6250- 900-4 405] 549 CP6-8300-1100:5 |, | 301 | 2495 1,068
CP6-6250- 900-5| 00| 281 1895 50 5T 634 CP6-8350-1100-5| 10| 351 [224.5 20 1120
CPo60- 9004 | [ oo .o, [405[ 577 CP6-8400-11005| | 4011995 1176
CP6-6300- 9005 51505 668 CP6-6250-1150-5| | 2512745 1,055
CP6-6200- 950-4 405 545 CP6-8300-1150-5| .| 3012495 1110
cpe-6200- 9505 | 201 12145 505 6os CP6-8350-1150-5| 20| 351 [ 2245|200 1164
CPo6250- 950-4| oo [ | o 1405|575 CP6-8400-1150-5| | 4011995 1223
CP6-6250- 9505 51505 665 CP6-6250-12005| | 251 |2745 1,093
CP6-6300- 950-4 405] 605 CP6-8300-1200-5| . | 301 |249.5 1.151
CP6-6300- 9505] | 01 |1845(505] 01 CP6-8350-12005 | 2 351 |224.5°0%[ 1208
CP6G2000004| | 50 |1, -|405] 569 CP6-8400-12005] | 40111995 1.270
CP6-6200-10005 S1505] 657
CP6-6250-1000-4 405] 600
CPe-6250-10005 00| 21 | 189575, 5T 595
CP6-6300-1000-4 405 632
cPe-6300-10005] | 01 |16457505] 734

Furnished With: Feature:

2 of eye bolts

Note:
These blocks are non-stock items.

Also available in custom designs on request.





